
ROOF CAP ASSEMBLY
INSTALLATION INSTRUCTIONS

IMPORTANT
READ THESE INSTRUCTIONS CAREFULLY  
FOR SAFETY AND PROPER INSTALLATION

6’ & 9’ (1.83M & 2.74M) Diameter Roofs

Roof Cap Assembly ....................................................2

Roof Cap Hinge Installation ..........................................2

Heavy Duty Roof Cap Assembly .....................................3

Heavy Duty Roof Cap Hinge Installation .........................3

12’ - 24’ (3.66M - 7.32M) Diameter Roofs

Standard Roof Cap Assembly ........................................4

Roof Cap Hinge Installation ..........................................4

Heavy Duty Roof Cap Assembly .....................................5

Heavy Duty Roof Cap Hinge Installation .....................5

27’ - 48’ (8.23M - 14.63M) Diameter Roofs

Standard Roof Cap Assembly .....................................6

Standard Roof Cap Latch Assembly ............................6

Hold Down Bracket Installation .................................7

Heavy Duty Roof Cap Assembly .................................7

Heavy Duty Roof Cap Attachment ..............................8



2 www.SCAFCOgrain.comSPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

Roof Cap Assembly

6’ & 9’ (1.83M & 2.74M) Diameter Roofs

Roof Cap Hinge Installation
NOTES:
1. CONNECT HINGE (PART B) 
(214002) TO ROOF CAP USING (2) 
5/16” X 3/4” [8 X 19] HEX HEAD 
BOLTS (290001) AND 5/16” [8 MM] 
HEX NUTS (290010).

2. CONNECT HINGE (PART A) 
(214003) TO ROOF COLLAR RING 
(221043) USING (4) 5/16” X 3/4” [8 
X 19] HEX HEAD BOLTS (290001) 
AND 5/16” [8 MM] HEX NUTS 
(290010).

3. ASSEMBLE TOGETHER USING 
HINGE SPACER (214004), 3/8” X 3 
½” [10 X 89 MM] HEX HEAD BOLT 
(290012) AND 3/8” [10 MM] HEX 
NUT (290014) AS SHOWN.



3 www.SCAFCOgrain.comSPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

Heavy Duty Roof Cap Assembly

6’ & 9’ (1.83M & 2.74M) Diameter Roofs

Heavy Duty Roof Cap Hinge Installation
NOTES:
1. CONNECT HINGE (PART A) 
(214003) TO ROOF COLLAR RING 
(221043) USING (4) 5/16” X 3/4” [8 
X 19] HEX HEAD BOLTS (290001) 
AND 5/16” [8 MM] HEX NUTS 
(290010).

2. ASSEMBLE TOGETHER USING 
HINGE SPACER (214004), 3/8” X 3 
½” [10 X 89 MM] HEX HEAD BOLT 
(290012) AND 3/8” [10 MM] HEX 
NUT (290014) AS SHOWN.



4 www.SCAFCOgrain.comSPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

12’ - 24’ (3.66M - 7.32M) Diameter Roofs

Standard Roof Cap Assembly

Roof Cap Hinge Installation
NOTES:
1. CONNECT HINGE (PART B) 
(214002) TO ROOF CAP USING (2) 
5/16” X 3/4” [8 X 19 MM] HEX HEAD 
BOLTS (290001) AND 5/16” [8 MM] 
HEX NUTS (290010).

2. CONNECT HINGE (PART A) 
(214003) TO WEATHERSKIRT 
(210196) USING (4) 5/16” X 3/4”  
[8 X 19 MM] HEX HEAD BOLTS 
(290001) AND 5/16” [8 MM] HEX 
NUTS (290010).

3. ASSEMBLE TOGETHER USING 
HINGE SPACER (214004), 3/8” X 
3 ½” [10 X 89] HEX HEAD BOLT 
(290012) AND 3/8” [10 MM] HEX 
NUTS (290014) AS SHOWN.



5 www.SCAFCOgrain.comSPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

Heavy Duty Roof Cap Assembly

12’ - 24’ (3.66M - 7.32M) Diameter Roofs

Heavy Duty Roof Cap Hinge Installation
NOTES:
1. CONNECT HINGE (PART A) 
(214003) TO WEATHERSKIRT 
(210196) USING (4) 5/16” X 3/4” [8 X 
19MM] HEX HEAD BOLTS (290010).

2. ASSEMBLE TOGETHER USING 
HINGE SPACER (214004), 3/8” X 3 
½” [10 X 89MM] HEX HEAD BOLT 
(290012) AND 3/8” [10MM] HEX NUT 
(290014) AS SHOWN.

SAFETY STEPSAFETY STEP
(214763)(214763)
(12 REQ'D)(12 REQ'D)



6 www.SCAFCOgrain.comSPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

(18 REQ'D)(18 REQ'D)

OPENOPEN

Standard Roof Cap Assembly

27’ - 48’ (8.23M - 14.63M) Diameter Roofs

Standard Roof Cap Latch Assembly



7 www.SCAFCOgrain.comSPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE

Hold Down Bracket Installation

27’ - 48’ (8.23M - 14.63M) Diameter Roofs

Heavy Duty Roof Cap Assembly

(18 REQ'D)(18 REQ'D)



Heavy Duty Roof Cap Attachment

27’ - 48’ (8.23M - 14.63M) Diameter Roofs

5400 E. Broadway Avenue
PO Box 11215
Spokane, WA 99211 USA

Phone: +1-509-535-1571
E-mail: info@SCAFCOgrain.com
www.SCAFCOgrain.com GS3006E0920


